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numpy = import numpy
scikit-learn = from sklearn import %
Pillow = from PIL import **

EEMLET.

X5 [pipd (FE72IE pip3) IVI/RZBENTYR—=ILLET .

pip install 5177358

Bl; pip install scikit-learn

T2 —)LLUTZHERIS. Tpip list] THRERLFRET .
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[tegaki_hantei_SVC_02.py] -« ARBICHNY

# -*- coding: utf-8 -x-

Created on Thu May 17 23:32:34 2018
[tegaki_hantei_SVC_02.py]
@author: kenken

#from sklearn import datasets,cross_validation,svm,metricst [cross_validation] (& 0.20 ASYIEA
2<Eorc !

HESR: S AN [scikit-learn] (£[0.19.1) 72 | FE.BLITZ—H'EE

from sklearn import datasets,model_selection,svm, metrics

import numpy as np

from PIL import Image

#from matplotlib import pylab as plt

print("step1”)
t scikit-learn (UBD [FEEHF (XF) 7 —HYzub ] 24
digits=datasets.load _digits()

t TANRAIFEEHZ | BEOBUAHENNT

image=Image.open("tegaki_O1.png”).convert (L") CTPAVRDFEEYNT (X)) F—H%
image=image.resize((8,8),Image.LANCZ0S) scikit-learn [TED [FEEHZT— St v~ &

image=image.resize((8,8),Image.ANTIALIAS
#image=inage.resize((8.8).Inag ) BLF—9WRICT BEHONE.
img=np.asarray (inage,dtype=float)

img=np.floor (16-16%(img/256)) - £5 -9 b3, Bl (BB 3] =
img=img.flatten() SRIZE0.

t FBRT-YDEMR

data_train=digits.data — [ZBR] 7 —5&l
label_train=digits.target scikit-learn MIBDFZ2=HZIT—Htz v ~

b AT —HERE

data_test=img — [F2 MBI T—=HEMR

label_test=[5] PAYROFEEATOCE.

print ("step2”)

#

print ("digits.data[6]=",data_train[5]) — [B] BBOT—H9EELEL
print("data_test= ",data_test) — [F2 FAI F—oE2HL

print ("digits.data[6]=",digits.data[5].shape)

«— 175 =
orint ("data_test= ".data_test.shape) [data[b]] & [data_test] TIDARET=ZEEZEHL
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clf=svm.SVC (gamma=0.007) SVC (UR—F - ROH .Yy Y) PILTJT L%

clf.fit (data_train.abel_train) BoT @ENS) REFBZRE.
" [olf) BEBEHA | £155.

print("step3”)

#predict=clf.predict (data_test.reshape(1,-1))
# [data_test.reshape(1,-1)JICKD. 2RTTBIIT =S D [11TD ] DFINCL THL

predict=clf.predict (data_test.reshape(1,-1)) CEBEADA | CLN.
print (" A SN label_test)

va « F— data_test Y| E o
orint CEEAFESER” oredict) T2« F—4 (data_test)ZHIET D

print("--------——- F—HDtER---———----————- )
print("data_test.reshape(1,-1)=",data_test.reshape(1,-1))
print("----------- REIC |~ )

I e
ac_score=metrics.accuracy_score(label_test,predict) | —FRZE#HtE

pr?nt (:J—_Eﬁic’é%",ac_sgore*TOO,"%") [label_test]ICIERE ANTHIIRSIC
print " RD0L57E ") R ——
o BEo

—————————————— RROAIME)  —m-mmmmmmmmmoe-
#predict=clf.predict (data_test)

fLEE—RFTCOERIS—:

Expected 2D array, got 1D array instead:

array=[0. 0. 2. ... 0. 0. 0.].

Reshape your data either using array.reshape(-1, 1)

if your data has a single feature or array.reshape(1, -1)
if it contains a single sample.

I | data_test (JWE (& 7T)L-7 —H) DIZHIC. COWIBDILEZDD | | 272

== (BR);
data_train[5]
Out[28]: array([ 0., 0., 12, .., 10., 0., 0.1)

data_test
Out[29]: array([O., 0., 2., ..., 0., 0., 0.1)

data_test.reshape(1,-1)

Out[301]: array([[O., O., 2., .., 0., 0., 0.1J1)

2RI CIEDTD |

BEL AL T data_train[6](&E. 2R T8I —HYDARAD. 1TD T —I7EDT.

F AT —HE 2RTTEINT —IDI D EEDFRICL TRILEDN HDDTIE? |

CDEeIAIR, shape [ (1, -1) XD (-1, 1) ZIBEITDE, ZNZEN 2 RITDIENTHLDOfie N T)L
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ZEBICIEFRCEN TEET.
In [40]: np.arange(6).reshape((1, -1))
Out[40]: array([[O, 1, 2, 3, 4, 5]1)
In [41]: np.arange(6).reshape((-1, 1))
Out[41]:
array([[0],

(1],

(2],

(3],

(4],

(511)

5. E1THE

Jvy—=icEBRsnzRs B) ERLET ;

step

step?

digits.data[b]= [ 0. 0. 12. ... 10. 0. 0.]
data_test= [0. 0. 2. ... 0. 0. 0.]
digits.data[b]= (64,)

data_test= (64,

step3

T 2AoN)L [6]

ENTISR (5]

——————————— F—HDWER-——
data_test.reshape(1,-1)= [[0. 0. 2. ... 0. 0. 0.]]
——————————— REBIC | -
IERZZR 100.0 %

LTS
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